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1.(A) P R
v ¥

i i

B

D
R is sitting opposite to
2.(0)

B —> < wn
O—> <0

vs]

Some students are teachers in future as students
and teacher make a Society.

3. (D) 64, 125 and 216 is the cubes of 4, 5 and 6
respectively where as 225 is the square of 15.

4. (B) Tree comes from roots and smoke comes from
fire.

5. (B) Number of boys in the line before addition 12
from right + 4th from the left -1
=(12+4-1)=15
~. Number of boys added in the row to
complete 28 boys = 28 — 15 = 13.

6. (C) .
Father

Mother—Woman~

Person”
The relation of person cannot be determined
the woman as can be his mother or can be his

aunt.

7D 33 31 3 34 :39
| ) A | N
B3 2 45 2 45

8. D)bpnlkbpnlkbpnlk

nbkl

SOLUTION

9.(B)18+2+10-5x3
=9+ 1015
=19-15
=4

10. (A)

C

B is grand mother of A.
1. (O)6+4+1— 11 x2 522
541+5 > 11 x2-522
3+45+3 > 11 x2 22
12.(A)cddde|cddde|cddde
The sequence is which follows here cddde

13. (A)

Only conclusion I follows.

e

=B

15. (C) CAB=12
3+1+2=6x2=12
FED=6+5+4=15x2=30
HIDE=8+9+4 +5=26x2=52

16. (D) iv. Pabloism

iii. Pachometer

14. (A)

™,
N
}

ATIT

ii. Pacable
i. Parachute
iv, ii, iii, 1

B

17. (B)
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18. (C) Q = 10 (Q opposite - ] = 10)
FAX

Ll

21+26+3 = 50
Simiarly
XEROX

il

3 +22+9+12 +3 =7
49=72?
199 O B J ECT
75, 96, 22, 55, 44, 03
The digits in the number represents the code the
first digit gives the column code and second digit
gives the code of the row.
20. (D) Refuse and Deny is the pairs of synonms.
Where as all the others are the pair of antonyms.
21. D)4+ 7=11
9+4=13

19-9=10

22.(B) School

5km
6km

4km

Home
The boy's starting point is in south-west direc-

tion from his school.

LK I F B W
s.@ LML
2 -3 4 -5 -6
24. (D) A room is covered with wall and in option

door is given. The logic is former is surrounded
by the later.

25. (D) Chlorine is the part of Halogen similarly neon
is the part of Inert gas.
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1. (D)

Goat are mammals and mammals are animals.
(A fgg feff g fg ofg fiof
fgef
3. (D)
0 2, 10, 18, 33, 61, 112-

LTI_T I_TLTI_TI_T\_TLT

2 41 +2 +5 +8 +15+28 51494

. (D) Vilas' home is in North-West dierection from
his college.

[\

=~

Home 2—k>—

3kmy

— e College

W

(©) 10,5, 124,11, 1330, 17, 4912

(r-n G- ar-n (17-1)

Grandmother

+

Son

Daughter—Man"

The woman is the sister of the man.

7. (B) 4)Franchise 5) Frantic
3) Fraternity 1) Fraudulent
2) Fraught
4,5 3,1,2

8. (B)

5km

Own village

Father-in-laws village

Distance between his own village and father-in-
laws village

F=4+x

25-16=x2

9=x?

x =3 km

The man is in east direction and 3 km away.

9.(A
) MAST ER

XK K

SAMRET
Similarly

CARR OT

PENST ON

8 237693

11. (D) CAT — 3 letters
72+3 > 24
Adding place values - (3 +1+20) =24
TROT —5292+4 —>73
20+ 18+ 15+20) > 73
STAG —> (19+20+1+7) —> 47
47 x 4 =188
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12. (A) Adding 1 to all the digits of formal to get 51 reverse 15

later. Similarly

57416 : 68527 :. 64784 . 75895 ANKIT=?

13.(B) 15-8+20x10+5=47
=15-8+20x2 =47
=15-8+20x2=47
=7+ 40 =47
=47=47

If only II follows.
15. (A)

16. (C)

B is either niece or rephew of R.
17.(A) 48 +39+3-7x%x5

=48 +13-35

=61 -35

=26

Gof(om e

Mangoes

18. (A)

If only conlusion I follows.
19. (B) MAT =43

13+1+20 = 43

34 reverse 43

DEEPU = 15

4+5+5+16+21=15

1+14+11+9+20 = ?
55 reverse 55

Q X U
Similarly

T A N

G A4

YN
Q D

22. (A) U is sister-in-law of S.

[P—Q]
s =0

23. (A) Numbers which are be side number will never

=

21. (B)

be on the opposite face to 3.
So, 4 is on the opposite to face of 3.
24. (A)
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1. (C)
D G T T W Z
(A) N AAA B) ~A_A
+3 43 +3 43
P S V S V X
(C) NN A (D) ~ A
+3  +3 +3 2
2.(B
B) A
B E
C F B

There are 11 triangle in the given figures.
3. (D) DESIRE =11

6+(6-1) = 11

11=1

SUCCEED = 13

T+(7-1)=13

13=13

Similarly

COMPATIBLE = ?

10+(10-1)=?

19="7°

Logic : number letter + (Number of letter — 1)
4.(C)98 95 86, 82, 66, 36

I N N N M A
-3 -9 - -16 -5 -25
L4 I KN I A
3x3 4x4 5%5

5.(A)

1. A got marks more than B who got more than C.

A>B>C

2. D got marks more than C who got less marks
than A.
A>C>D

SOLUTION

3. E got less marks than C but more marks than F.
C>E>F

.. Final arrangement-
A>B>C>D|E>E|D>F

/_ghﬂlﬂdﬂs

1 2 3

6. (D)

1,4,2
7. (A) The opposite sides of the dice will be (5, %),
(7, @) and (8, 9)
If in figure we see then, all of 3 different pairs
while will be ture.
8. (D) B E, H, K, N, Q,
LN 44
+3 +3 3 +3 +3 13
9. (D) In statement it is said that drink milk is good
for health where as in conclusion I it is said all
healthy people drink milk which it not mentioned
in the statement.

Conclusion II- In statement it is neither
mentioned about the child about adult.

10. (A) The same figure figure-1 will be repeated
after the changes will be done.

1.A) OBESITY

EBOHYTI

Reverse

Similarly

FIXTURE

Reverse
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12. (C)

True

All of the follow.
13. (O
Z C G L

A L 1
+3 +4 +5 3 +4 +5

OR VB K NR W
< L+ 1t O Lt 1 1
3+ +6 +3 +4 +5

HO (D @S 6 6]
e bought Chosolaisd —> /N() 3

£ [Ee] them — [8] /N 6

I'bought them -9 3 6
15. (B)

AG T K X®G T K X

+4 +4 +5 +6

OB Y F CO®S H W L

+4 +4 +4 +4

16. (A) Adding the place values of the letters.
U TKAR SH
21+20+11+1+18+19+8 = 98

=9+8=17
CLAS S ES
3+12+1+19+19+5+19 = 78
=7+8=15
K ETAN
11+5+20+1+14 = 51
=5+1=6
17.(B) P E N
16(x2) 5(x2) 14(x2) = 321028
T U B

20(x2) 21(x2) 2(x2) = 40424
18. (B) Former is the square of later
2809 : 53 :: 1024 : 32

Shining

19. (A)

Camera

Only conclusion IT and TV follows.

20. (A) As the rally is announced before so police
should be information accordingly and the
adequate police force should redeployed to see
the pre-occasion of rally and they can avoid the
traffic congesting by diverting the traffic a both
the action should be taken.

2™yt R Q ON, LK,

L_TI__TL_TI__TL_TI__TI_T

-1 21 21 21 2 1

22. (D) 64 is a square and cube other are not square
and cube.

ASD FI15L K25N, P 358, HU 45 X
23.(0 [ IC_ I 1Ll 1Ll |
3 12 43 42 13 2 +3 12 3

24. (B)

25. (B)

Eggs

Only I, IT and 111 follow.
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Only IV follows

2. (B) In figure 1.

45 +35+30+25=135/5=27

In figure 2.

20 + 40 + 30 + 60 = 150/5 = 30

In figure 3.

40 + 35+ 65+ 25=165/5=133

3.(D)9 —> 9 x 10 — 90
11> 11 x 12 - 132
6-—>6x7—>42
12512 x 12 —> 144

12 x 13 — 156
4.(C)
aS R P @M L J
| | )
-1 2 -1 2
J H F E D B
© N 1 ) N1
-2 2 -1 2
5.(C)

6. (D)

10 19 35 [60]
i . TlF

—> o\

+1 +4 +9 +16 +25

2 3 4 5

1. R sits 2nd to the right of P.
P.R

2. Neither Q nor T sits to the left of R.
P.R

3. S sists 2nd to the left of Q.
PSRQT

Then person are sitting between P and T.

SOLUTION

LR
HH

8. (A) First four and the last four letters are written
in reverse order, so the code for RESPETCED
is PSEREDECT.

9. (A) Statement 1:

ABCE EAFD
45 72 3674
Statement 2:
ADFB ABCD
45 72 3674
The code for 56 — CF
0-®q 9 37 6l
I N M M
+11  +17 +24 432
| N M iy
+6 +7 +8

11. (D) 968 + 11 x 2 — 76 + 11 = 105
88 x2-76+5=105
176 — 76 + 5 = 105
100 + 5 = 105
105 = 105

12. (D) ABBCDABBCD ABB CDABBCD
BDDCBC

&

ol

13. (A)
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4O M RROR

l+1l+2l+3l+4l+5 +6
NKUVTX
Similarly

WEL COME
+1{42 |43 |4 |45 |6 [+7

XGOGTSL

15B) , g B

I

D E C
There are total 9 triangles in the figure.

R S N
l6.(¢) +1 +4 +9 +16 +25

12 22 32 42 52

17. (D)

18.(C)4+8+9+3=24+4=6
T+8+6+7=28+4=7
9+8+8+9=34+4=85
6+7+3+4=20+4=5

19. (B)
Comparl o

Only conclusion II follows.

0® BACHELQR

1 +1y -1

NMDIBBA

Similarly

NJRFGP

21 400, 200, 100, [30] 25, -12.5
| MM N N 4
2 2 2 2 =2

22. (A)

49 25
¥
7 5—>7+5=
16 25
v o
4" 55—4+5=9
49 64
. ¥
7 8—=>7+8=15
16 36
¢y
4" 6—>6+4=10
23. (A) 120m
100m 100m
Starting
point
250m

(250 — 120) m = 130m towards east.

24. (B)
25.B) 4 o B
I J
G E
T K
D F C

There are 16 triangle in the given figure.
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1. (B) 8iswrittenasT
6 is written as R
3 is written as A
1 is written as |
7 is written as N
4 is written as E
5 is written as D
So 8631745 is written as TRAINED.
2. (D) 1. Rsits 2nd to the right of P.
P.R
2. Neither Q nor T sits to the left of R.
P.R
3. S sists 2nd to the left of Q.
PSRQT

Three person are sitting between P and T.

3.(A) SPARTLING

RAPSKGNIL
Similarly

PSEREDECT

4. (A) Statement I:
@12 @BIOE
T\1®- E @AY

Satement I1:
AOBKY- O
WEOO

26, 22, [20] 16, 14
500 LM M
-4 2 4 2

SOLUTION

6. (D)

o %

8. (B) 3.5, 21, 84,
| M A
x2 x3 x4

9Ny 7 12, 20 32
| M M M M

420 2520
A4
X6

x5

3 5 +8 FI12 17
I MMM A
+2  +3 +4 +5
1024, 986, 948, 910,
10. (A) | M M M
—38 -38 —38 -38
oo o
1. D) |, O °
o ©

12. (D)acbddbacbddbacbddb
bdabc

4 © 3 27, 53, 107, [213) 427

L 4L A M A
x2+1 x24+1 x2+1 x2+4]1 x2+1
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15.(A)A=2, B=4, C=6 20.(B)2. 3 9. 12, 30, 39, 93,
J| I I Il Il Il

A C R SIIT. 213 <103 %216 <139 ar1s <1127
v ovov
2 4+6 +36 — 44 21. (A)
F A Q ‘w@
v oy oy
12+6 +34 — 48

| MMM A 4
+5  +10 +20 +40 +380

| M M N i Similarly

x2 x2 x2 x2

AMAN
16.(C) 35, 40, 50, 70, 110, 2. ®) +1><1 +2><2
AB PC

GAUR

+1 1 N\ /"2

17.(D) BH TW

23.(C) WUM ch

4 +4 4 +4 +4 4 4 +4

N M B D
18.8) & [+ ® 1|

Reverse pair E 24. (D) Melt : Liquid :: Freeze : Solid
I R P K A liquid is in the melted from and anything
(C) Relxgepair (D) Reverse pair which is frozen is in solid form.

25. (A) (12 : 144 : 1728)

N 1 (12! 122 129)
BPCR DPES EPGT |[HPIU JPKV
R TIIR YS (4516 64
31 31 31 1 (41 s 42 43)

+1 +1 +1 +1

19. (B) +0 +0 +0 +0
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